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Hangnte 3Ha4yeHue
BblpaXXeHuns:

COS 20, ecausSin o =




Bblancnntb: 6sinl 50 .cos| 50

2¢cosl5’ —1



BblincnunTb:
sin(a + B)—2cosa sin B;ecua =73°, f = 28°



Hangute 3Ha4YeHune BblpaXkeHus: T ,
3cos E—a + sm(n +oc)

ecrm Sino = —0,3



Hangute 3Ha4YeHune BblpaXkeHus:
2005(

£+aj+sin(n — o)
ecCliu 2)

since =-0,7



Hangunte 3Ha4veHune BblpaXeHusd 5 sin ZX

. 2 R4

5270




Hangunte 3Ha4deHne BblpaXeHngd

coslSO(c:os35O sin 50° — cos 50" sin 350)



Hangute 3HayeHne BblpaXXeHus

V35in30°(cos10° cos 20° —sin10° sin 20°)



Hanaute 3HavyeHune BblpaXeHns

2sin31" cos 31’

sin 38" sin 66" + cos38" sin 24"




YNpPOCTUTb BblpaXXeHUe:

2
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YNpoCTUTbL BbipaXeHUe:
tg*(270° + a )—sin*(180° + )



YNpPOCTUTb BblpaXXeHUe:

SIn 2 S1n o

|
2Coso



YNpoCTUTb BbipaXeHUe:

COS 2

—cos(27r +(x) | S0 —sing



YNpOCTUTbL BbipaXeHue:

(3% ) .
1+ ctg| —+ x |sInxcos x
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